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Midterm Study Guide
- Chapters 1, 2, 4, 25, 9, 5, 6
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Using the graph on ionization energy above answer questions 1-4:

1.  Which group of elements have the highest ionization energy? 

2. Which group of elements most easily loose electrons?

3. As you move from left to right across the periodic table ionization energy

a. Increases


b. decreases

4. As you move down a group or column on the periodic table, ionization energy

a. Increases


b. decreases
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Using the graph on atomic radius above answer questions 5-7:

5. Which group of elements has the largest atomic radius?
6. As you move from left to right across the periodic table, the atomic radius 
a. Increases

b. decreases
7. As you move down a group or column on the periodic table, atomic radius
a. Incresaes

b. decreases
8. Which element is the most electronegative?  

9. When a non-metal becomes an ion it

a. Gains an electron(s)

b. Looses an electron(s)

10. When an non-metal becomes an ion it’s radius

a. Increases


b. decreases

11. When a metal becomes an ion it

a. Gains an electron(s)

b. Loses an electron(s)

12. When a metal becomes an ion it’s radius

a. Increases


b. decreases

13.  Write the electron configuration for the following:
a. Au__________________________________________________________________

b. Ag__________________________________________________________________

c. U___________________________________________________________________

14. Write the Noble Gas electron configuration and orbital diagram for the following:

a. Ce

Noble Gas Notation________________________________________________________________

Orbital diagram _____________________________________________________________________

b. Np

Noble Gas  Notation________________________________________________________________

Orbital diagram______________________________________________________________________

c. Xe

Noble Gas Notation_________________________________________________________________

Orbital diagram______________________________________________________________________

15.  The group of atoms characterized by  ns2 are known as
a. Halogens

b. Noble gasses

c. Alkali metals

d. Alkaline Earth Metals

16. The group of atoms characterized by  ns1 are known as 

a. Halogens

b. Noble gasses

c. Alkali metals

d. Alkaline Earth Metals

17. The group of atoms characterized by ns2np5 are known as

a. Halogens

b. Noble gasses

c. Alkali metals

d. Alkaline Earth Metals

18. The group of atoms characterized by ns2np6 are known as
a. Halogens

b. Noble gasses

c. Alkali metals

d. Alkaline Earth Metals

19. Elements with a filling or full d orbital are known as

a. Non-metals

b. Metalloids

c. Transition metals

d. Inner transition metals

20. Elements with a filling or full f orbital are known as

a. Non-metals

b. Metalloids

c. Transition metals

d. Inner transition metals

21. Complete the chart:
	
	s
	p
	d
	f

	Number of orbitals
	
	3
	
	

	Number of e-
	
	
	10
	


22.  What energy sublevels exist in the third energy level?

23.  Arrange the following elements:  P3-, S2-, Na+, Mg2+, Al3+, in order of increasing ionic size.

24. Which of the following statement(s) are characteristics of the nucleus of every atom?
a. It has a positive charge
c. It is very dense


b. c. It is made up of p+ and e-.

25. Zinc can be found in the _________

a.   s block

b.    p block

c.  f block
d.   d block 

26. Which of the following has the smallest atomic radius?

a.
Chlorine


c.   Selenium

b.
Sulfur



d.   Bromine

Identify the following as physical changes or properties.

For a physical property put a; for a chemical property put b.

27. Nickel I chloride is green._________

28. Sodium is a very active metal________

29. Acetylene is flammable._______

30. Water has a freezing point of 0°C._______

Identify the following as chemical or physical changes. 

For a physical change put a; for a chemical change put b.

31. Gallium melts______

32. A balloon expands and pops._______

33. Magnesium replaces silver in silver nitrate_________

34. Ammonium nitrate explodes_________

Use these choices for 35-38 

a. Element

b. Compound

c. Homogeneous mixture

d. Heterogeneous mixture

35. Cobalt is a(n)_______________

36. Carbon Dioxide is a(n)__________

37. A strawberry banana Jamba Juice is a(n)____________

38. Sugar water is a(n)___________________

39. 
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40. As a consequence of the discovery of the nucleus by Rutherford, which model of the atom is believed to be true?

a.    A model in which the nucleus is made of protons, electrons and neutrons

b. A model in which the region around the nucleus is largely empty space in which the electrons are situated.

c. A model in which the nucleus is made of electrons and protons

d. A model in which the nucleus is made of neutrons only

e. A model in which the protons and neutrons compose the nucleus.

41. Select the correct statement about subatomic particles.

a. Neutrons have no charge and are the lightest subatomic particle.

b. Electrons, protons, and neutrons all have the same mass.

c. Protons are positively charged, found in the nucleus and the lightest subatomic particle

d. Electrons are negatively charged, occupy most of the volume and are the lightest subatomic particle.

42. The nucleus of an atom is _____.

A)Negatively charged and has a low density.

C)  positively charged and has a low density.

B)Positively charged and has a high density.

D)  negatively charged and has a high density.


43.In which of the following sets are the symbol of the element, the number of protons, and the number of electrons given correctly?

a. F, 19 protons, 19 electrons

b. Cs, 55 protons, 132.9 electrons

c. He, 4 protons, 4 electrons

d. Zn, 30 protons, 60 electrons

e. In, 49 protons, 49 electrons


44. All atoms are _______________.

a.  positively charged, with the number of protons exceeding the number of electrons

b.  neutral, with the number of protons equaling the number of neutrons, which is equal to half the number of electrons

c.  negatively charged

d.  neutral, with the number of protons equaling the number of electrons

45. In which of the following is the number of neutrons correctly represented?
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Mg has 24 neutrons

a. 
[image: image5.wmf]19

9

F has 0 neutrons

b. 
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U has 146 neutrons

c. 
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As has 108 neutrons

d. 
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Au has 79 neutrons

46. How do the isotopes hydrogen-1 and hydrogen-2 differ?

a. Hydrogen-1 has no protons; hydrogen-2 has one.

b. Hydrogen-2 has one neutron; hydrogen-1 has none.

c. Hydrogen-2 has two protons; hydrogen-1 has one.

b. Hydrogen-2 has one more electron than hydrogen-1.


47. Isotopes of the same element have different ______. (Choose all that apply!)

a. mass numbers
B)  number of protons
C)  number of neutrons
D)  mass
 
E) Symbols


48.  Which of the following equals one atomic mass unit?

a. One gram

b. One-twelfth the mass of one carbon atom

c. The mass of one helium atom

d. The mass of one electron

49.  Thorium-230 decays by alpha emission.


_____________________________________________________________

50.  Iodine-131 decays by beta decay.


_____________________________________________________________

51.  Which type of radiation is the highest energy radiation?


a. alpha


b. beta


c. gamma

52. Give the name or formula of the following substances
a. Calcium Chloride


Chemical formula: _________________

b. NaOH



Chemical name: _________________

c. K2S




Chemical name: _________________

d. SBr6




Chemical name: _________________

e. Br2O7




Chemical name: _________________

f. (NH4)2Cr2O7



Chemical name: _________________

g. NH4NO3



Chemical name: _________________

h. H3PO4



Chemical name: _________________

i. Ba(ClO4)2



Chemical name: _________________

53.  Elements emit light when their electrons: Circle the correct answer.

a.  fall back down to the excited state as the lose the energy they just gained


b.  jump to the excited state with the excess energy gained


c.  gain energy and jump to the ground state


d.  lose energy and fall back down the ground state
54. Identify the two elements in the bright line spectrum below.


Element 1____________________  Element 2________________________

Name: ___________________________


Period: __________________________





Answers:





1.____________





2. ____________





3. ____________





4. ____________





Answers:





5.____________





6. ____________





7. ____________





8. ____________





9. ____________





10. ___________





Answers:





11.____________





12. ____________











Answers:





15.____________











16. ____________














17. ____________














18. ____________





Answers:





19.____________











20. ____________











Answers:


22.____________





23. ____________





24. ____________








25. ____________








26. ____________








27. ___________





28.___________





29. ___________





30. ___________








31. ___________





32. ___________





33. ___________





34. ___________














Explain what is happening in the diagram to the left.  Use the words Excited state, Ground state, Energy Level, Emit, Electromagnetic Spectrum.  Highlight each word you use.
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